
Use these instructions to install handle holder extension. Read and follow these 
instructions along with the standard instructions carefully before installing or using tarp 
system.

NOTICE TO INSTALLER: Even if familiar with hardware, read instructions prior to 
installation as improvements may be made without notice. Always handle components 
with care. If you have questions or problems, call customer service. When done, these 
instructions must be given to the consumer.

NOTICE TO CONSUMER: Before using this product, read special instructions. Save 
these instructions for future reference.

NOTICE TO INSTALLER/CONSUMER: This handle holder kit is designed to be 
universal. Some installations will not need all parts.

Questions? 800-233-4655
agricover.com 

HANDLE HOLDER EXTENSION INSTRUCTIONS



2

 PREPARATION
COMPONENTS
• (2) Stabilizing braces with hardware
• Upper and lower brackets with hardware
• Extension with hardware
• Handle holder with hardware

TOOLS NEEDED
• Drill with 5/16” bit
• 9/16” socket and wrench
• 3/4” socket and wrench

IMPORTANT: Before drilling holes, review both options to determine which is most 
suitable.

OPTION 1: MOUNT EXTENSION TO WALL
(LOW PROFILE BOXES WITH SUFFICIENT VERTICAL SPACE)
 A. Center extension on rear of box and use 
top hole as template to drill 5/16” hole in box 
then secure with 3/8” x 1” self-threading bolt, 
fl at washer, lock washer and nut. 

B. Repeat for lower hole in extension.

To install handle holder, perform one of the 
following. 

Top boltTop bolt

Lower 
bolt

ExtensionExtension

EZ-LOC® AND ROLTEC® KITS

C. Attach mount to extension using (2) 3/8” x 1” 
hex bolts then secure with fl at washers, lock 
washers and nuts. 

D. Attach handle holder to mount using 1/2” x 1” 
fl ange bolt with spacer.

Mount

Extension

Handle holder

SRT-2® KITS

C. Attach handle holder to extension using 
3/8” x 1” bolt with nylock nut.

Handle holder

Extension



2 3

OPTION 2: MOUNT WITH ADDITIONAL BRACING
(HIGH PROFILE BOXES WITH INSUFFICIENT VERTICAL SPACE)
A. Attach upper bracket to top of extension 
using 3/8” x 3-1/4” hex bolt, fl at washer, lock 
washer and nut.

B. Center extension on rear of box and use 
holes in upper bracket as template to drill (3) 
5/16” holes into box then secure with (3) 
3/8” x 1” self-threading bolts, fl at washers, 
lock washers and nuts.

C. Bolt stabilizing brace to lower end of 
extension with 3/8” x 1” hex bolt, fl at washer, 
lock washer and nut.

D. Bolt remaining stabilizing brace to hold 
extension vertically. Secure with (2) 3/8” x 1” 
hex bolts, fl at washers, lock washers and nuts.

E. Attach lower bracket to stabilizing brace 
using 3/8” x 1” hex bolt, fl at washer, lock 
washer and nut. Use hole in lower bracket as 
template to drill 5/16” hole into box and 
secure with 3/8” x 1” self-threading bolt, fl at 
washer, lock washer and nut. 

To install handle holder, perform one of the 
following. 

Adjustable 
stabilizing braces

Box wall

Lower bracket

Extension

Upper bracket

EZ-LOC® AND ROLTEC® KITS

F. Attach mount to extension using (2) 3/8” x 1” 
hex bolts then secure with fl at washers, lock 
washers and nuts. 

G. Attach handle holder to mount using 1/2” x 1” 
fl ange bolt with spacer.

Mount

Extension

Handle holder

SRT-2® KITS

F. Attach off set bracket to extension using (2) 
3/8” x 1” hex bolts, fl at washers, lock washers 
and nuts.

G. Attach handle holder to off set bracket 
using 3/8” x 1” self-threading bolt and nut.

Extension

Off set bracket

Handle holder



121819   40952_EProduct subject to change without notice.


